R(27).3 (mod 2)

blocks | defect matrix blocks | defect matrix
G: 1 3 8 x5 9= 5 0 21846 = X8,2:¥6,2
2 3 3 8 x5H 10 0 414961 = X9+, 7+
3=2 3 8 X H 11 0 414962 = X12+, P10+
4 0 21841 = X7,0, 95,0 12 2 4 x3
5 0 21849 = Xx7,1,¥5,1 13 1 2x1
6 B 0 21843 = X7,2,¥5,2 14 1 2x1
T=4 0 21844 = 8,0, 6,0 15 0 808081 = X33+, P21+
8=06 0 21845 = 3,1, v6,1
Block 1: | 010 $20 @31 Pa2 ¥130
11 =x1,0 1 . 1
7031 = X2,0 1 1 . Y10 = 1
T4ly = X3, A P20 = 702
Mlg=xao| . . . 1 Pa1 = 7312
14435 = x50 R pa2 = Tl
14435 = x6.1 1 1 . P30 = 16796
18981 = x100| 1 1 1 1 1
196831 = X20,0 1 2 1 1 1
Block 2: | o111 @21 @32 @40 131
lo =x1.1 1 . _ 1
7032 = X2,1 1 1 . #1,1 : 22
45 =xs2| . . 1 . P21 = 7212
4y =xa0| . . . 1 Paz = 7413
14431 = 5.0 R Pao = Tl
14436 = x6,2 : 1 1 _ w131 = 167962
18081, =101 | 1 1 1 1 1
196832 = X20,1 2 1 1 1




Block 3: | p12 @22 @30 @41 132
I3 =x12 1

7033 = X2,2 1 1 .

7411 = x3,0 1 .

7415 = x4,1 . . 1

14432 = X5,1 1 1 .

14434 = X6,0 1 . 1
189815 =y | 1 1 1 1 1
196833 = X20,2 1 2 1 1 1

Block 12: | 9140 ©141 ©142
182781 = x15,0 1 .
182789 = x15,1 1 .
182783 = X15,2 . . 1
548341 = X164+ 1 1 1
Block 13: | p15+
59052; = X214 | 1 PLot
590523 = x27+ 1
Block 14: | ¢154+
590525 = Yo4.. 1 P18+
590524 = Xx30+ 1

p12 = 13
@2,2 = 7023
p3o = T4l
w41 = T4l5
@1372 - 167963
@14’0 = 182781
@14)1 == 182782
()014,2 - 182783
= 59052
= 59052,



